

BERLIN 445 INDUSTRIAL LANE BERLIN, VERMONT 05602 P.O. BOX 186 MONTPELIER VT 05601-0186 800 247 2583 800 922 8778 800 255 4550

June 21, 2024

Kevin Ruggeberg, FSA, MAAA Vice President & Consulting Actuary Lewis & Ellis, Inc.

Subject: Your 06/14/2024 Questions re: Blue Cross and Blue Shield of Vermont 2025 Vermont QHP Market Filings (SERFF Tracking #: BCVT-134091560, BCVT-134096633)

Dear Mr. Ruggeberg:

In response to your requests dated June 14, 2024, here are *your questions* and our answers:

1. Since the filing was submitted, L&E has used information from both carriers to project final 2023 risk adjustment transfers. What is the rating impact of this updated projection?

The table below shows the estimated risk adjustment transfers included in the rate filings and the projected final transfers from L&E, along with the impact to the Blue Cross VT filed rates.

	Risk Adjustment Tr (Receiva		Average Rate Increases		
	Individual (incl. Catastrophic)	Small Group	Individual (incl. Catastrophic)	Small Group	
Estimated Final 2023 - as filed	-\$8,954,199	-\$8,406,450	16.4%	19.1%	
Estimated Final 2023 - from L&E	-\$10,032,304	-\$8,949,399	15.9%	18.8%	

2. For each month from January 2019 through March 2024, please provide the total allowed costs, member months, and any normalization factors appropriate to normalize for changes in unit costs, population age factors, and induced utilization.

See attached tab Q2 in *Responses to Blue Cross VT 2025 QHP Rate Filing - Inquiry 2.xlsx* for the monthly allowed costs and normalization factors for medical claims. Claims included in this table are uncapped but exclude OTC COVID tests, which are no longer covered. Claims included are paid through May 2024, completed using Blue Cross VT monthly reserving models.

3. Please provide the following values split by metal tier and by members who were and were not part of Medicaid redeterminations: Total Unique Members, Total Member Months, Average PLRS, Average Age, Average Allowed PMPM.

The table below shows the member count, member months, average PLRS, average age, and average allowed PMPM by requested population.

		Total Unique members	Total Member Months	Average Risk Score PMPM	Average Age	Average Allowed PMPM
Part of Medicaid	Platinum					
Redetermination	Gold					
	Silver					
	Bronze					
	Catastrophic					
Not part of	Platinum					
Medicaid	Gold					
Redetermination	Silver					
	Bronze					
	Catastrophic					
Total Indi	vidual Market	25,731	234,963	1.286	44.29	\$905.79

The average risk score PMPM in the table above was calculated using the final 2023 risk adjustment results and are aligned with information in the RATEE report provided in our prior responses. The allowed PMPMs exclude all claims for members with over \$500,000, which is consistent with how we developed line $1+b_7$ on Exhibit 5-IND.¹.

4. The filing indicates that BCBSVT assumed all members will use in-network, non-OTC sources to purchase hearing aids, and did not adjust the source data for the availability of OTC hearing aids. Members are assumed to buy the more expensive hearing aids "in order to have their benefits apply." Does this assume that members would make such a decision even if they have yet to satisfy their deductible, and would potentially pay far less out of pocket for an OTC hearing aid than one via an in-network provider?

In the development of the projected cost of the hearing aid benefit, we did not adjust the expected utilization for members choosing to buy a non-covered OTC device rather than a covered device.

5. Provide actual hearing aid claims experience from 1Q2024.

The table below shows the actual hearing aid claims experience for claims incurred January 2024 to April 2024, paid through June 11, 2024. We did not apply completion factors to these claims.

Month	Total Allowed for Hearing Aids	Total Number of Hearing Aids	Allowed PMPM	Units per 1,000	Average Cost per Unit
January 2024	\$12,087.45		\$0.27		
February 2024	\$20,000.00		\$0.44		
March 2024	\$21,250.00		\$0.47		
April 2024	\$31,684.00		\$0.70		

¹ Note that the label on exhibit 2B incorrectly stated "exc. All claims from members over \$1M" and should have been "over \$500,000".

6. Explain the decision to assume that all Silver members with 77% CSR and lower respond rationally to the availability of lower premium Gold plans, given that these members would often already benefit from transitioning to Bronze plans, but have remained in Silver.

Blue Cross VT does not have income information for subscribers. We also do not have information about the size of their household, the numbers of dependents that are not covered by Blue Cross VT, or their personal income tax situation. All Blue Cross VT has for information are the CSR levels and the amount of subsidies, if the subscriber elected to receive the advance premium tax credit (APTC) instead of waiting until completing their tax return to receive the premium tax credit. Members who choose to wait to receive their premium tax credit appear to have no subsidies in the data we receive from VHC. With all these unknowns around members' personal situations, it is not possible for Blue Cross VT to know or understand the complete story behind any given member's plan choice.

It is possible that members who would already benefit from transitioning to bronze plans prefer the lower cost shares of silver CSR plans.

At the time of filing, based on our rates alone, members in CSR 77% and CSR 73% would be able to purchase both gold and bronze plans at \$0 premium after subsidies, making gold plans the obvious choice. When selecting the assumption that all silver members with 70% CSR would move to gold plans, we considered all the possible options. However, assuming a portion of these members would remained in silver versus moving to gold would have also required us to decide the proportion of members who would make that choice. We opted for simplicity, as we do not have enough data to precisely know which plan members will select, and assumed that they would purchase gold plans.

It is important to note that any changes in membership distribution will impact many factors in the rate development, including the impact of changes in benefit factor, the selection factor, and normalization of induced utilization.

7. We note that the projected cost for high-cost claimants excluded from the reinsurance agreement is about \$300k higher in 2025 than in 2023. Explain how this projected cost was developed.

It is unclear where the \$300k quoted in the question references but we understand that the intent of the question is to reconcile exhibit 5 lines a_3 and e_5 .

Individual Market

In the individual market, there is one member excluded from the reinsurance agreement in 2024

Allowed charges for drugs not included in the Blue Cross VT reinsurance agreement	\$1,598,269
Experience Member Months	234,963
Excluded PMPM from Experience (Exhibit 5-IND, line a3)	\$6.80

Total allowed charges for member excluded from Blue Cross VT reinsurance agreement	\$1,605,854
Claims above the \$1 million limit	\$605,854
Portion covered by HCRP (60%)	\$363,512
Portion covered by Blue Cross VT	= \$1,598,264 - \$363,512 = \$1,234,756
Projected Member Months	277,968
Projected Cost of high claimants (Exhibit 5-IND, line e5)	\$4.44

Small Group Market

In the small group market, there are two members excluded from the reinsurance agreement in 2024.

Allowed charges for drugs not included in the Blue Cross VT reinsurance agreement	\$1,926,302
Experience Member Months	263,429
Excluded PMPM from Experience (Exhibit 5-IND, line a3)	\$7.31



Total allowed charges for members excluded from Blue Cross VT reinsurance agreement	\$3,309,322
Claims above the \$1 million limit	\$1,309,322
Portion covered by HCRP (60%)	\$785,593
Portion covered by Blue Cross VT	= \$3,309,332 - \$785,593 = \$2,523,729
Projected Member Months	264,219
Projected Cost of high claimants (Exhibit 5-IND, line e5)	\$9.55

8. In the case of both facility claims and non-MH professional claims, normalized 2023 utilization was almost exactly at the level of 2021 utilization. Additionally, in both cases, the actuarial memorandum notes that 2023 claims are artificially elevated. Further explain the reasoning behind assuming the increases from 2022 to 2023 are part of a trend that will continue for 2 years into the future.

We expect positive future trends in both categories for the following reasons:

- Although the normalized utilization is similar between the years, almost all 36-month measures, which compare 2023 to 2021, suggest positive trends.
- In 2021, we saw the return of care deferred during the pandemic, the return of care deferred during the UVMHN cyberattack, and very robust utilization in October December. We also noted some areas of care had not returned to their pre-pandemic levels. In prior filings, we benchmarked services against their "normal" pre-pandemic level. For the reasons outlined above, 2021 was a very anomalous year so we do not find the increase in utilization from 2022 to 2023 to be attributable to claims returning to their "normal" levels and view the alignment in utilization between 2021 and 2023 to be coincidental.
- The components of utilization have changed. Between 2021 and 2023, acute admissions have increased, while non-acute admissions have decreased. Outpatient and professional laboratory services have decreased, while the intensity of outpatient services and number of primary and specialty care services have increased. We do not consider a flat utilization trend is reasonable since the underlying service mix and drivers of trend are different, even if the composite total is similar.

• As shown in our response to question 2 above, emerging 2024 experience is not showing any signs of slowdown in trend. The table below shows the year-ending March PMPM (normalized for cost, population changes, induced utilization, and working days) by type of claim using the same data used to populate our answer to question 2.

	Facility	Professional	MHSA	MedRx	Total
YE Mar 2022	\$455.83	\$163.92	\$19.48	\$57.39	\$696.62
YE Mar 2023	\$468.89	\$165.87	\$20.10	\$61.69	\$716.55
YE Mar 2024	\$484.37	\$171.97	\$21.77	\$66.72	\$744.83
VE Mar 2022 / VE Mar 2022	2.00/	1.20/	2.20/		2.00/
YE Mar 2023 / YE Mar 2022	2.9%	1.2%	3.2%	7.5%	2.9%
YE Mar 2024 / YE Mar 2023	3.3%	3.7%	8.3%	8.2%	3.9%

- Vermont hospitals were approved on average higher net patient revenue budget than unit cost increases.² and the only way to achieve that is through higher utilization (either with more services or with higher intensity of services). Early FY 2024 reporting further illustrates high utilization, as UVMMC's April year-to-date reporting shows their FY 2024 Net Patient Revenue is 2.5 percent above budget³.
- For facility trends, we recognized that 2023 trends were slightly elevated with selecting a trend of 3.0 percent, which is lower that the most recent year-over-year trend of 3.9 percent. For non-MHSUD professional trend, we also selected a utilization trend slightly below the most recent year-over-year, although to a lesser degree than on facility.

Please let us know if you have any further questions, or if we can provide additional clarity on any of the items above.

Sincerely,

Martine & Lemieur

Martine B. Lemieux, F.S.A., M.A.A.A. Chief Actuary

²

https://gmcboard.vermont.gov/sites/gmcb/files/documents/GMCB%20ESTABLISHES%20FY24%20HOSPITAL%20BUDGETS%20BALANCI NG%20AFFORDABILITY%20AND%20SUSTAINABILITY 09.15.2023.pdf

³ https://gmcboard.vermont.gov/sites/gmcb/files/documents/B24_UVMMC_April_Actual_submitted.pdf

BLUE CROSS AND BLUE SHIELD OF VERMONT 2025 VERMONT QHP MARKET RATE FILINGS - INDIVIDUAL

RESPONSES TO ACTUARIAL INQUIRY 2, DATED JUNE 14, 2024

		Adjustments for Aging, Benefits, Fraud Waste and Abuse Programs and Working Days								
Month	Members hip	FWA Recoveries and Savings	Normalized FWA Factor	Working Days	Normalized Working Days	Induced Utilization	Normalized Working Days	Average ASF	Normalized ASF	Total Normalized Factor
Jan-19	49,942	0.3%	0.972	22	0.955	1.094	0.999	1.289	0.990	0.918
Feb-19	49,702	0.3%	0.972	20	1.050	1.094	0.999	1.288	0.991	1.010
Mar-19	49,495	0.3%	0.972	21	1.000	1.094	0.999	1.288	0.991	0.962
Apr-19	49,253 49,156	0.3%	0.972	22 22	0.955	1.094 1.094	0.999	1.289 1.288	0.990 0.991	0.918
May-19 Jun-19	49,156 49,006	0.3%	0.972	22	1.050	1.094	0.999	1.288	0.991	1.010
Jul-19	49,000	0.3%	0.972	20	1.050	1.094	0.999	1.288	0.991	0.963
Aug-19	48,838	0.3%	0.972	22	0.955	1.094	0.999	1.286	0.992	0.920
Sep-19	48,689	0.3%	0.972	21	1.000	1.094	0.999	1.285	0.993	0.964
Oct-19	48,506	0.3%	0.972	22	0.955	1.094	0.999	1.284	0.994	0.921
Nov-19	48,403	0.3%	0.972	19	1.105	1.094	0.999	1.284	0.995	1.067
Dec-19	48,047	0.3%	0.972	21	1.000	1.094	0.999	1.283	0.995	0.966
Jan-20	39,349	0.7%	0.976	22	0.955	1.096	0.997	1.303	0.980	0.910
Feb-20	39,043	0.7%	0.976	20	1.050	1.096	0.997	1.302	0.981	1.001
Mar-20 Apr-20	38,677 38,173	0.7%	0.976 0.976	22 22	0.955 0.955	1.096 1.096	0.997	1.304 1.306	0.979	0.909
May-20	37,806	0.7%	0.976	20	1.050	1.096	0.997	1.307	0.977	0.997
Jun-20	37,489	0.7%	0.976	22	0.955	1.096	0.997	1.310	0.975	0.905
Jul-20	37,413	0.7%	0.976	22	0.955	1.096	0.997	1.309	0.975	0.905
Aug-20	37,298	0.7%	0.976	21	1.000	1.096	0.997	1.310	0.975	0.948
Sep-20	37,273	0.7%	0.976	21	1.000	1.096	0.997	1.309	0.975	0.949
Oct-20	37,096	1.2%	0.981	22	0.955	1.096	0.997	1.307	0.977	0.912
Nov-20	36,613	1.2%	0.981	19	1.105	1.096	0.997	1.312	0.973	1.052
Dec-20 Jan-21	36,280 35,025	1.2%	0.981	21 19	1.000	1.096	0.997	1.311	0.974	0.952
Feb-21	34,679	2.5%	0.993	20	1.050	1.096	0.997	1.313	0.973	1.003
Mar-21	34,514	2.5%	0.993	23	0.913	1.096	0.997	1.313	0.972	0.879
Apr-21	34,431	2.5%	0.993	22	0.955	1.096	0.997	1.313	0.972	0.919
May-21	34,351	2.5%	0.993	20	1.050	1.096	0.997	1.314	0.972	1.010
Jun-21	34,352	2.5%	0.993	22	0.955	1.096	0.997	1.314	0.971	0.918
Jul-21	34,242	2.5%	0.993	21	1.000	1.096	0.997	1.313	0.972	0.963
Aug-21	34,240	2.5% 2.5%	0.993	22 21	0.955	1.096 1.096	0.997 0.997	1.312 1.313	0.973	0.920 0.963
Sep-21 Oct-21	34,210 34,211	2.5%	0.993	21	1.000	1.096	0.997	1.313	0.972	0.963
Nov-21	34,007	2.5%	0.993	20	1.050	1.096	0.997	1.314	0.971	1.010
Dec-21	33,918	2.5%	0.993	22	0.955	1.096	0.997	1.315	0.971	0.918
Jan-22	35,908	2.5%	0.993	21	1.000	1.093	0.999	1.307	0.977	0.970
Feb-22	36,030	2.5%	0.993	20	1.050	1.093	0.999	1.305	0.978	1.019
Mar-22	35,972	2.5%	0.993	23	0.913	1.093	0.999	1.305	0.978	0.886
Apr-22	35,938	2.5%	0.993	21	1.000	1.093	0.999	1.304	0.979	0.971
May-22 Jun-22	35,845 35,856	2.5% 2.5%	0.993	21 22	1.000 0.955	1.093 1.093	0.999	1.305 1.304	0.978	0.971 0.928
Jul-22	35,850	2.5%	0.993	19	1.105	1.093	0.999	1.304	0.979	1.075
Aug-22	35,941	2.5%	0.993	23	0.913	1.093	0.999	1.303	0.980	0.888
Sep-22	35,831	2.5%	0.993	21	1.000	1.093	0.999	1.303	0.980	0.972
Oct-22	35,758	2.5%	0.993	21	1.000	1.093	0.999	1.303	0.979	0.972
Nov-22	35,664	2.5%	0.993	20	1.050	1.093	0.999	1.304	0.979	1.020
Dec-22	35,505	2.5%	0.993	21	1.000	1.093	0.999	1.305	0.978	0.971
Jan-23	39,707	3.4%	1.002	22	0.955	1.093	0.999	1.292	0.988	0.945
Feb-23 Mar-23	40,426 40,369	3.4% 3.4%	1.002	20 23	1.050 0.913	1.093 1.093	0.999	1.288	0.991 0.992	1.043 0.907
Apr-23	40,369 40,282	3.4%	1.002	23	1.050	1.093	0.999	1.287	0.992	1.043
May-23	40,232	3.4%	1.002	20	0.955	1.093	0.999	1.287	0.991	0.948
Jun-23	41,044	3.4%	1.002	22	0.955	1.093	0.999	1.284	0.994	0.950
Jul-23	41,946	3.4%	1.002	20	1.050	1.093	0.999	1.280	0.997	1.048
Aug-23	42,388	3.4%	1.002	23	0.913	1.093	0.999	1.277	0.999	0.914
Sep-23	42,783	3.4%	1.002	20	1.050	1.093	0.999	1.275	1.001	1.053
Oct-23	43,051	3.4%	1.002	21	1.000	1.093	0.999	1.276	1.001	1.002
Nov-23	43,103	3.4%	1.002	20	1.050	1.093	0.999	1.276	1.000	1.052
Dec-23 Jan-24	42,948 44,141	3.4%	1.002	20	1.050	1.093	0.999	1.276	1.000 0.992	1.052 0.949
Jan-24 Feb-24	44,141 45,024	3.2%	1.000	22	1.000	1.090	1.002	1.287	0.992	1.000
Mar-24	45,046	3.2%	1.000	21	1.000	1.090	1.002	1.276	1.000	1.000
	.,	/v	2.500		2.300	2.330	2.502		2.500	

Origina	I Claims	Adjusted Claims	- Normalized for	Adjusted Claims - Normalized for FWA and Working				
Total Allowed	Allowed PMPM	Total Allowed	Allowed PMPM	Total Normalized Factor	Allowed PMPM	Rolling 12 months PMPM	Annual Tren	
\$29,603,257	\$592.75	\$39,025,673	\$781.42	0.918	\$717.37			
\$24,558,624	\$494.12	\$32,340,649	\$650.69	1.010	\$657.40			
\$28,435,895	\$574.52	\$37,448,498	\$756.61	0.962	\$728.07			
\$26,200,274	\$531.95	\$34,485,122	\$700.16	0.918	\$642.74			
\$29,845,774	\$607.16	\$39,082,811	\$795.08	0.918	\$730.22			
\$26,332,182	\$537.33	\$34,356,695	\$701.07	1.010	\$708.15			
\$25,560,866	\$521.90	\$33,414,062	\$682.24	0.963	\$657.04			
\$24,771,362	\$507.21	\$32,278,686	\$660.93	0.920	\$607.86			
\$24,068,110	\$494.32	\$31,480,893	\$646.57	0.964	\$623.55			
\$28,804,275	\$593.83	\$37,259,900	\$768.15	0.921	\$707.84			
\$24,421,172	\$504.54	\$31,592,350	\$652.69	1.067	\$696.67			
\$25,015,908	\$520.65 \$554.48	\$32,253,758	\$671.30	0.966	\$648.76 \$643.23	\$677.27 \$671.48		
\$21,818,113	+	\$27,822,164	\$707.06					
\$19,699,626	\$504.56	\$25,102,788	\$642.95	1.001	\$643.80	\$670.81		
\$17,677,611 \$11,366,013	\$457.06 \$297.75	\$22,613,976 \$14,389,368	\$584.69 \$376.95	0.909	\$531.37 \$341.99	\$656.01 \$635.21		
\$15,498,543	\$409.95	\$19,774,463	\$523.05	0.997	\$521.62	\$618.41		
\$20,382,502	\$543.69	\$25,770,977	\$687.43	0.905	\$622.06	\$610.25		
\$20,267,904	\$541.73	\$25,609,059	\$684.50	0.905	\$619.65	\$606.45		
\$20,425,987	\$547.64	\$25,873,372	\$693.69	0.948	\$657.55	\$610.13		
\$21,165,953	\$567.86	\$26,703,117	\$716.42	0.949	\$679.64	\$614.10		
\$20,884,271	\$562.98	\$25,900,820	\$698.21	0.912	\$636.60	\$606.31		
\$18,390,695	\$502.30	\$22,685,830	\$619.61	1.052	\$651.54	\$600.45		
\$20,796,678	\$573.23	\$25,785,033	\$710.72	0.952	\$676.59	\$601.43	-11.2%	
\$19,592,137	\$559.38	\$23,780,697	\$678.96	1.065	\$723.35	\$607.28	-9.6%	
\$19,381,101	\$558.87	\$23,611,005	\$680.84	1.011	\$688.33	\$610.40	-9.0%	
\$22,843,407	\$661.86	\$27,658,437	\$801.37	0.879	\$704.32	\$624.73	-4.8%	
\$20,099,255	\$583.75	\$24,328,412	\$706.58	0.919	\$649.41	\$651.44	2.6%	
\$20,327,749	\$591.77	\$24,571,419	\$715.30	1.010	\$722.64	\$668.44	8.1%	
\$21,344,013	\$621.33	\$25,815,188	\$751.49	0.918	\$690.03	\$674.22	10.5%	
\$19,929,467	\$582.02	\$23,919,719	\$698.55	0.963	\$672.51	\$678.87	11.9%	
\$23,085,704	\$674.23	\$27,671,816	\$808.17	0.920	\$743.43	\$685.98	12.4%	
\$20,051,098	\$586.12	\$23,964,416	\$700.51	0.963	\$674.57	\$685.61	11.6%	
\$21,266,687	\$621.63	\$25,207,505	\$736.82	0.962	\$709.04	\$691.89	14.1%	
\$21,707,578	\$638.33	\$25,668,182	\$754.79	1.010	\$762.02	\$701.21	16.8%	
\$21,654,350	\$638.43	\$25,605,212	\$754.92	0.918	\$692.65	\$702.67	16.8%	
\$22,410,864 \$18,850,254	\$624.12 \$523.18	\$25,987,815 \$21,914,573	\$723.73 \$608.23	0.970	\$701.68 \$619.96	\$700.83 \$694.85	15.4% 13.8%	
\$25,298,028	\$703.27	\$29,398,233	\$817.25	0.886	\$724.45	\$696.62	11.5%	
\$22,946,458	\$638.50	\$26,640,035	\$741.28	0.880	\$719.94	\$702.52	7.8%	
\$22,268,890	\$621.26	\$25,775,450	\$719.08	0.971	\$698.30	\$700.51	4.8%	
\$23,533,970	\$656.35	\$26,995,925	\$752.90	0.928	\$698.32	\$701.18	4.0%	
\$22,212,773	\$617.33	\$25,082,116	\$697.07	1.075	\$749.03	\$707.59	4.2%	
\$23,363,216	\$650.04	\$26,445,649	\$735.81	0.888	\$653.15	\$700.07	2.1%	
\$24,075,185	\$671.91	\$27,117,498	\$756.82	0.972	\$735.83	\$705.14	2.8%	
\$21,880,599	\$611.91	\$24,082,596	\$673.49	0.972	\$654.60	\$700.59	1.3%	
\$23,838,393	\$668.42	\$26,277,058	\$736.80	1.020	\$751.73	\$699.97	-0.2%	
\$27,186,571	\$765.71	\$29,746,579	\$837.81	0.971	\$813.17	\$709.89	1.0%	
\$28,639,385	\$721.27	\$30,052,961	\$756.87	0.945	\$715.16	\$711.05	1.5%	
\$26,327,709	\$651.26	\$27,654,710	\$684.08	1.043	\$713.28	\$718.74	3.4%	
\$29,654,946	\$734.60	\$31,137,054	\$771.31	0.907	\$699.83	\$716.55	2.9%	
\$26,891,131	\$667.57	\$28,204,777	\$700.18	1.043	\$730.08	\$717.50	2.1%	
\$31,719,783	\$786.84	\$33,265,109	\$825.17	0.948	\$782.27	\$724.81	3.5%	
\$31,041,179	\$756.29	\$32,503,887	\$791.93	0.950	\$752.58	\$729.38	4.0%	
\$26,626,717	\$634.79	\$27,519,269	\$656.06	1.048	\$687.87	\$724.09	2.3%	
\$32,287,360	\$761.71	\$33,322,163	\$786.12	0.914	\$718.49	\$729.02	4.1%	
\$28,386,958	\$663.51	\$29,300,901	\$684.87	1.053	\$721.10	\$727.80	3.2% 5.2%	
\$32,418,482	\$753.03	\$32,965,360	\$765.73	1.002	\$767.50	\$736.74		
\$31,988,837 \$30,761,898	\$742.15 \$716.26	\$32,497,025 \$31,260,679	\$753.94 \$727.87	1.052	\$793.16 \$765.69	\$740.61 \$737.60	5.8% 3.9%	
\$33,092,984	\$749.71	\$31,260,679 \$33,142,722	\$750.84	0.949	\$765.69	\$737.60	3.9%	
\$33,092,984 \$31,049,275	\$749.71 \$689.62	\$33,142,722 \$31,074,671	\$750.84 \$690.18	1.000	\$689.96	\$734.88	3.7%	
	2003.02	231,074,071	\$814.55	1.000	\$816.52	27.24.00	2.2/0	